
Type Sr. TDI Part # Description Picture

1 BRN-009 TSM/ER6/TMGL1/2/2A Sheave end bearing

2 BRN-010 TSM/ER6/TMGL1/2/2A, TGL1/2 Encoder end bearing

3 ORN-008 TSM/ER6 and TMGL1/2/2A Oring on the Sheave for emergency brake pad

4 ORN-012 TSM/ER6 and TMGL1/2/2A Oring on the Shaft for normal brake pad

5 OSL-006 TSM/ER6, TMGL1/2/2A, TGL1/2 Sheave side Oil Seal

6 OSL-007 TSM/ER6,TMGL1/2/2A, TGL1/2 Rotor side Oil Seal

7 OSL-007A TSM/ER6: 16MT00100, TGL1/2: before 16AH00012  Rotor side Oil Seal

8 MSV-ER6-10mmX7
ER6 Drive Sheave -7X10mmX16mm(pitch)X440-V40/92(V2)-HRC50, with 

diameter tag installed, bolts, washer and 2XOrings (109X2.65)

9 MSV-TSM/TMGL1-10mmX8
TSM/ER6/TMGL1 Drive Sheave -8X10mmX16mm(pitch)X440-V40/92(V2)-

HRC50,with diameter tag installed, bolts, washer and 2XOrings (109X2.65)

10 MSV-TMGL2-10mm
TMGL2 Drive Sheave -10X10mmX16mm(pitch)X410-V40/92(V2)-HRC50, with 

diameter tag installed, bolts, washer and 2XOring (109X2.65mm)

11 MSV-TMGL2A-1/2"
TMGL2A Drive Sheave -6X1/2"X3/4''(pitch)X508-V40/92(V8)-HRC50, with 

diameter tag installed, bolts, washer and 2XOring (109X2.65mm)

12 MSV-TSM-FAI-10mm
TSM Drive Sheave -8X10mmX16mm(pitch)X440-U30/97-HB220-260,with 

diameter tag installed, bolts, washer and 2XOrings (109X2.65)

13 NBK-TSM-001
TSM /ER6/ TMGL Machines  Normal brake disc, with 1XOring (60X2.65mm), 

each

14 EBK-TSM-006
TSM /ER6/ TMGL Machines  emergency brake disc, with 2XOring 

(109X2.65mm), pair

TDI SPARE PART LIST-TMGL/TSM MACHINE (FOR CUSTOMER)                                              
1/3/2017

Bearing 

Oil Seal & Oring 

Main Drive Sheave

Brake 



15 NBK-TSM-002 TSM/ER6 Normal Brake Assembly with dust cover installed ( include brake disc)

16 NBK-TSM-003 TSM/ER6 Normal Brake Assembly with dust cover installed ( include brake disc)

17 EBK-TSM-004
TSM /ER6/ TMGL1 Emergency Brake Coil Assembly with dust cover installed 

(include brake disc)

18 NBK-TSM-007
TMGL2/2A Normal Brake Coil Assembly with dust cover installed (include brake 

disc)

19 EBK-TSM-005
TMGL2/TMGL2A Emergency Brake Coil Assembly with dust cover installed ( 

include brake disc)

20 ENBK-TSM-Switch
Brake Switch Kit - TSM/ER6/TMGL -Burgess V4NS-300mm, with plate and 

hardware

21 ENBK-TSM-JUN TSM/ER6/TMGL1 Brake connecting Box with terminal block

22 ENBK-TMGL2-JUN TMGL2/TMGL2A Brake connecting Box with terminal block

Encoder 23 ENC-Gearless-001 Heidenhain 413 Encoder

24 JUN-TSM-001 TSM, TMGL1, TMGL2, TMGL2A Machine Junction Box Cover 

25
JUN-TSM/TPM

2/3/4-TER

Motor Terminal Block for TSM/TMGL1/TMGL2/TMGL2A, 

TPM2/3/4

26 SHG-TSM-001 Sheave Guard Assembly, TSM/TMGL1 Machines 

27 SHG-TSM-002 Sheave Guard Assembly, TMGL2 Machines 

28 SHG-TSM-003 Sheave Guard Assembly, TMGL2A Machines 

29 GRN-M10 Grease Fitting Nozzle, M10X1

30 GRN-M10X1.5 Grease fitting nozzle, M10X1.5 before 16MT00357

Grease Drain Plug 31 GRP-M10 Grease Drain Plug, M10X1

Grease Nozzle

Sheave Guard 

Junction Box 

Brake 


